ROlINO. o,

BC-07

Corporate Accounting
(SUERSEEIER))
Bachelor of Commerce (B. Com-10/16)
Second Year, Examination, 2017

Time : 3 Hours Max. Marks : 60

Note : This paper is of sixty (60) marks containing three
(03) sections A, B and C. Learners are required to
attempt the questions contained in these sections
according to the detailed instructions given therein.

AIC ;I8 U UA W16 (60) M BT ® W o (03) WU
‘@, @ T H fomfoa g1 Rl @ g
grel # fy My favwga e & oeR &yl @
S T B

Section—-A / Gvs—h

(Long Answer Type Questions) / (&€ IR 7%)

Note : Section ‘A’ contains four (04) long answer type
questions of fifteen (15) marks each. Learners are
required to answer two (02) questions only.
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What do you mean by accounting principles ?
Enumerate important accounting principles.
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What do you mean by Debentures ? Explain its various
forms. Differentiate between shares and debentures.
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Rakesh Ltd. made a public issue of 1,25,000 equity
shares of ¥ 100 each, ¥ 50 payable on application. The
entire issue was underwritten by four parties- A, B, C
and D in the proportion of 30%, 25%, 25% and 20%
respectively. Under the terms agreed upon, a
commission of 2% was payable on the amounts
underwritten. A, B, C and D had also agreed on ‘firm
underwriting’ of 4,000, 6,000, nil and 15,000 share
respectively. The total subscription, excluding firm
underwriting but including marked applications was
for 90,000 shares. Marked applications received as
under :

A 24,000 shares; B 20,000 shares; C 12,000 shares and
D 24,000 shares.

Ascertain the liability of the individual underwriter and
given necessary journal entries in the books of
company.

TP fol. F T 100 9Tl 1,25,000 FHAT 3 BT
ot ffe fm {9 R eded W 250 <7 o
QU (R 9R USRI 3, 9, § AT § gRT HA
30%, 25%, 25% d 20% @ SFUId H AR fdar
TR | 3 D WAT B AR /MR W 296 HHRE <
o7 |




[3] BC—-07

3, 9, | TA T 7 Y3¢ AU & fald Wl PHAT:
4,000; 6,000; ST AT 15,000 37 o WHR feba |
B AWSE Yo AU & AR W= fafed
el BT APl HRd gY 90000 3fWT BT FaAT |
ffved arde 1 TR U gV :

3 24000 3 § 20000 3T T 12000 I A
24000 377 |

TS IS FT <IR@ 1 DI T BT Bl
et # A we fiftedt Sifvr |

(@ What do you mean by liquidation of a company ?
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(b) What are the different ways in which a company
may be wound up ?
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Note : Section ‘B’ contains eight (08) short answer type
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questions of five (05) marks each. Learners are
required to answer four (04) questions only.
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Briefly discuss any four (04) of the following :
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Who are the users of accounting information ?
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State the purposes for which securities premium can be
utilized.
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Explain the sources from which the bonus shares can
be issued by a company.
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State various methods of redemptions of preference
shares.
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Make necessary journal entries in the books of Sona
Ltd :

(i) 5,000 13% debentures of ¥ 100 each were issued.
The whole amount is payable on application. The
issue was fully subscribed for and was fully paid
up.

(if) 5,000 13% debentures of ¥ 100 each were issued
at a premium of ¥ 10 per debenture, payable as :
T 25 on application, ¥ 35 on allotment (including
premium) and the balance on call. A holder of
100 debentures did not pay the allotment and call
money. Rest of the amount is duty received.
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What do you understand by underwriting ?
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What is “Divisible Profits” ?
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What is the need for valuation of shares ?
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Section-C / GUvs—1T
(Objective Type Questions) / (A& Te)

Note : Section ‘C’ contains ten (10) objective type
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questions of one (01) mark each. All the questions
of this section are compulsory.
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True or False :
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Debentureholders have voting right just like
shareholders.
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Proceeds from issue of debentures cannot be utilized
for the purpose of redemption of preference shares.
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Corporate dividend tax is payable only on dividend
actually paid.
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The company must be authorized by its memorandum
of association to reduce the share capital.
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Issue of bonus shares would increase the cash dividend
for the future.
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Fill in the blanks :
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6. Only ........ paid-up shares can be acquired under buy
back.
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Pooling method of accounting is applicable for
amalgamation in the nature of ...........

oIgI ®1 YhaIaRyl Fqead fafgr CaRSHICE
THIE & ford R BRiY 2



[7] BC—-07

8. When the whole issue is underwritten by the
underwriter(s), it is called ............
W9 AR gRT YUl iRl BT A o S ®
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9. Every Profit & Loss account of a company shall
comply with the requirements of .......... schedule VI.
S BT UG M AR B @ Al VI
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10. A share represents an ........... in a company.
3 Th BT H D SRERDI & CARMGIBIR)
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BC-07 730

A-45






